## **Construction Change Order**

Project:	City of Laredo - East	ern Chacon Creek Intere	ceptor & Drain	age Impro	vem	ents				
Contractor:	AZAR Services, LLC Balt Ramos	:						C. O. No.:		4
	201 W. Hillside Road Laredo, Texas 7804							Date:	Fe	bruary 8, 2024
You are her	reby requested to com	ply with the following ch	anges from the	e contract	plan	s and spe	ecifica	ations. This doc	umen	t shall become
an Amendm	nent to the contract an	d all provisions of the co	ontract shall ap	oply hereto	Ο.					
Item #	Desc	cription	Estimated Quantity	Unit	Un	it Price		Decrease in ontract Price		ncrease in ontract Price
Deduct:										
II. 19	Stamped Concrete	Median	-1,105	SY	\$	59.00	\$	(65,195.00)		
Add:	O	- 14 - II OL FI	F-7		Ι φ	400.00	1		Δ.	40.000.00
II. 8 II. 9	Concrete Retaining		57 161	LF LF	\$ \$	190.00 250.00			\$	10,830.00 40,250.00
II. 10	Concrete Channel		702	SF	\$	4.12			\$	2,892.24
II. 15	Standup Curb	ττιρ τταρ	24	LF	\$	14.00			\$	336.00
43	57 Stone		391	CY	\$	57.00			\$	22,258.50
61 ( New)	4" diameter Electric	cal Conduit	200	LF	\$	19.50			\$	3,900.00
62 ( New)	Concrete Retaining		57	LF	\$	57.00			\$	3,249.00
61 ( New)		Wall 5'-13' (FC16)	161	LF	\$	75.00			\$	12,075.00
, ,		, ,	1				To	tal Decrease	To	otal Increase
							\$	(65,195.00)	\$	95,790.74
JUSTIFIC/	ATION:							Net Change		\$30,595.74
1. Addition	al 57 stone necessa	ry below concrete line	d channel to	address o	arour	ndwater	surch			
SF deduct 4. Concret	of Concrete Rip-Ra	o address current site op); :SS MH's #1.1 & 1.2 n								
		4,361,657.20	)		Orio	ginal Co	ntrac	t Time	330	Working Days
-	Priginal Contract Amount 4,361,657.20 Change Order 1 (345,270.00			Original Contract Time Current Contract Time					550	Working Days
Change O		\$0.00								Working Days
Change O		82,642.25								Working Days
This Chan		30,595.74		Total Contract Time						Working Days
	act Amount:	4,129,625.19				ar corner	201		0.2	rronning Dayo
Recomme	nded By:			Accepte	d By	<i>'</i> :				
Alla	1 Mtz	Date: 2/8/24						Data		
Alfroda Ma	artinez, P.E. CFM	Date:		Baltaza	r Dar			Date: _		
	gineering Corp.					ces, LLC				
Approved By:				Approve	ed By	<b>/</b> :				
		Date:						Date: _		
Arturo Garcia, Jr., P.E. Utilities Director				Joseph Neeb City Manager						
Approved	as to Form:			Attest:						
		Date:						Date: _		
Doanh "Zone" T. Nguyen Assistant City Attorney				Jose A. Valdez, Jr. City Secretary						

## Eastern Chacon Creek Interceptor Drainage Improvements Rain Events

Laredo, Texas 2021-2023 9/19/23 10/6/23 11/2/23 1/22/24

Upd. 2/8/24

Construction start date: 12/07/20

				Additional Time
	Precipitation	Duration		Based on Rain
Date	(inches)	(Minutes)		Computation
05/17/21	0.86	60.0		5
05/19/21	0.73	322.0		5
06/01/21	0.80	113.0		5
07/06/21	2.40	565.0		10
07/08/21	1.10	563.0		8
07/10/21	1.20	120.0		8
08/02/21	0.57	263.0		5
08/06/21	1.71	275.0		8
09/22/21	2.58	192.0		10
10/13/21	0.58	329.0		5
11/03/21	0.63	516.0	*Light rain continued though 8:05 a.m. 11/4/21	5
04/25/22	1.30	429.0		8
05/23/22	1.60	75.0		8
05/24/22	2.77	469.0		10
		7/8/22	Cease and desist letter issued by USACE	
08/14/22	0.69	311.0		5
08/15/22	6.82	1343.0	*100 Year Storm Event	20
09/04/22	1.15	717.0		8
09/06/22	0.75	120.0		5
10/07/22	0.54	360.0		5
11/01/22	0.56	300.0		5
		2/13/23	Cease and desist letter issued by USACE	
04/23/23	3.04	101.0		15
05/13/23	0.56	62.0		5
05/18/23	1.46	14.0		8
05/28/23	1.52	263.0		. 8
06/08/23	0.62	98.0		5
08/22/23	3.98	169.0	*Tropical Storm Harold	15
09/15/23	3.06	74.0		15
10/05/23	2.00	131.0		8
11/12/23	0.88	29.0		5
29	46.46		Total Additional Days:	232
Storm Events	Total Precip. (inches)			<del>_</del>

Adding 317 WD to contract will extend completion date to 5/3/24

## Notes:

- (1) Table reflects rain of 0.5" or more;
- (2) Data source: extremeweatherwatch.com; wunderground.com









